11 "©o0n N1 7"an

0'02 1Avn NixX"Mon

:NMINANn 0'7'aan

NN 46 TIny

9.4

"9'wo 10.5

NMINAn X7 720N

1 0 1) (0
S=<l0|,|11],|0|+, B=42],/3|,] 0]} :R*® 2y n'0'02 w2 piIam
0 3)10) |8

B - 1S
[ I ] ) I .0'0'01 |2 MAYNN NIXMUN NN IXXN .NX
S
1

v], nxx¥n v=| 2| M
3

.[v]B nx Ix¥n (N"mank X71) omTin 0'9'von W NITva .a

NINX1I'"7 NIpNYD

:nMaInnn 0'7'20n

NN 52 TIiny

1.8
1.10
1.11
1.19



1.29

NNINAN X7 n'IRv

D2 3
:0vpnnw P Ry apnvn TR — R an

JDWAI9N MIXY NPRVAN DR YD L T (0,1) = (4,5, 6), T (1,1) = (1, 2,3)

Ian7x¥na



